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y % ¥ X ¥ X ¥ X | ¥
D1 | 363847148 | 5539736,12 5L | 3638417,07] 5370092 | wpl |3638464,53 [5539754 96| | Wt [3638695,30 s639420.4]
JL7on 7 D2 | 363848137 | 5539724,10 s1 | 3638383,84] 553964555 | wp2 | 363843251(5539726.70| | wpee |3638680,48]5539422,98
/ D3 | 363844767 | 55399366 52 | 3638393,91| 5539616,60| | Wp3 | 3638363,83 |5539664,11| | Wp3 |3638704,86 5539374,98
/ D4 | 363841966 | 5539668,35 53 | 363839%,60| 5539617.45| | Wp4 | 363847042 |5539743.35| | Wps4 |3638658,21|5539360,57
S\-«“ D5 | 3638383,17 | 5539639.90 s4 | 363842058] 5539633,67| | Wps | 3638387.85 [5539642,04| | wpes [3638608,99] 553934615269
/ / D6 | 363839499 | 5539618,18 S5 | 3638403,40| 5539586,40( | Wp6 | 363839471 |5539622.06| | Wpes |3633567,26(553933339 |
Y ° . R D7 | 363842255 | 553963623 S6 | 3638412,84] 5539557,05| | wp7 | 363841964 [5539635.27| | wWpb7 |3638535,03]5539320,98 59
//qu D8 | 3638448,00 | 5539%54,01 57 | 3638415,45] 5539557,75| | WpB | 363839690 |5539614,58| | Wp6d |3638528,26 5538319,40
/ DS | 363843070 | 5539%17,36 S8 | 3638443.41| 5539580,06| | Wpo | 363841345 553956069 | Wp6Y |3638647,82| 553940528
/ yd D10 | 363843863 | 5539589,00 59 | 3638430,73| 553948935 | Wp10 | 363844668 [5539575,90| | wpro [3638643 56 5539407,72L
D11 | 363844671 | 5539580,29 S10 | 363843438 5539500,06| | Wp11 | 363844673 |5539582,55| | Wp71 |3638569,87| 5538390,00
£535580.29 | 539582,55| 38599,87 5539350,00|
/ D12 | 3638401,59 | 553958717 S11 | 3638470,33] 553952554 | Wp12 | 3638415,77 5539554 .86| | Wp72 [3638595,70] 5538383 50
Va Q‘ D13 | 363840728 | 5539579,04 512 | 3638421,54] 5539695,97| | wp13 | 3638430,80 [5539505,76| | wp73 [3638732,33[5539382,05
& D14 | 363841350 | 553955840 S13 | 363844017 5539672,96| | Wpl14 | 363843620 |5539454 @
J/ D15 | 363841825 | 5539544 .11 514 | 363845174 5539652.47| | wpis | 363847248 [5539524.27| [Wodociag
) D16 | 3638422.75 | 5539528,80 515 | 3638453,03] 5539728,95| | Wp16 | 3638471,94 5539530, 11 X R
D17 | 363842724 | 553951549 S1%a | 363846908 553974168 | Wp17 | 3638436,05 [5539680,89 W1 |3638702,37| 5539585 11|~
v D18 | 3638431,30 | 5539501,84 S16 | 3638387,77| 553966547 | Wp18 | 3638433,32 |5539678,21 W2 |3633645,60] 5539570,99)
& J/ D19 | 3638436,13 | 5539502,73 517 | 3638506,34] 5539691,71| | Wp19 | 3638444,30 [5539674,03| | Wa2a |3638643,28[5539566,41
N e D20 | 3638468,66 | 5539526,17 518 | 3638481,18] 553967468 | Wp20 | 3638453,33 [5539652,70 W3 |3638631,94] 5539562 58|
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/ D25 | 3638513,12 | 5539623,80 524 | 3638576,07| 553955142 | Wp26 | 363839965 |5530678,45 W8 |3638645,30] 5539405 69|
/ D26 | 3638521,93 | 5539610,89 525 | 363854433 5539549.97| | wp27 | 3638386,57 |5539666,81 w9 [3633601,28] 553932 46|
. D27 | 3638540,45 | 5539588,21 526 | 363852379 5530546,52 | Wp28 | 3638390,80 |5539688,72| | W10 |3638564,95(5539381 53| 944
/ 3523 D28 | 363855347 | 5539572,39 527 | 36386%,24] 5539512,11| | Wp29 | 3638490,06 |5535708,95| | W11 |3638559,86]5539380,00
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kK 35063 D37 | 3638613,45 | 5539559,60 536 | 3538659,30] 5539359,31| | Wp3s | 363848337 [5539589,77| | w20 |3538471,37| 5539527 10|
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350,84 D39 | 3638636,89 | 5539524,82 538 | 3638570,55] 5539332,01| | wp40 | 363863916 [5539566,77| | w22 |3638444,61)5539582.00
D40 | 3638656,33 | 553951064 S39 | 3638535,96| 5530318,59| | Wpd1 | 3638618,44 [5539551,88| | W23 [3638422 46(5535633,30] |, 4
35020 %375 D41 | 363860625 | 5539501,33 sS40 | 3638647,50] 5539407,97| | wp42 | 3638610,82 [5539564.96) | w24 [3638502,68]5539450,83)
3523, \' “ D41a | 3638629,96 | 553045844 541 | 3538599,08 5539383.47| | Wp43 | 363860552 |5539556,57| |Punkiy czerpalne wod Ei
\ 35245 g D42 | 363857551 | 553954693 3638576, 15 |5539549,24 X Y|4
w63 351,96 Nk D43 | 363863238 | 5539454,07 3638564,52 [5539558.23| | PC1 |[3638608,51]5539505.73] |
D44 | 363866528 | 553949595 3638524,32 |5539537,98| | PC2 |3638633,42| 5539457 83|
T 363866528 495,95 | | 3638524,30 | 5539537,98) :
v 2 570 K D45 | 3638673,56 | 5538451,10 3638513,91 |5539554,81 PC3 |2633648,28]5539410,19)
|| / .95;4&\ 35732 w63 D46 | 3638679,65 | 5539468,25 3638658,31 |5539509.40| | PC4 |3638662,66] 553936236
o (Weam7 ] ” D47 | 3638639,43 | 5539430,60 3638653,67 553951391 PC5 [3633599,44
5 3534 D48 | 3638646,71 | 5538406,17 3638508,02 [5539500,46) | PC6 |23638563,12] 5539385 3]
// Resdna dna kanatu =348,78 D49 | 363865387 | 5539382,24 3638601,81 |5539503,28| | PC7 |3638540,31]5538317,01
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D59 | 3638661,17 | 5536358,30 Wyl | 3638503,25] 553978455
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i Wit3 | 3638640,79] 5538557.13]
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